asym_usl/ppm {ok_cut}

2000 hteI I Ip
1800 —
1600 - Entries 48211
1400 —
1900 - Mean 1.459
1000 —
800F- Std Dev  607.3
600
400
200 —
:IIII IIIIIIIIIIIIIIIII IIIIII
%000 —2000 —1000 O 1000 2000 3000
asym_usl/ppm
(asym_usl/ppm-asym_usr/ppm)/2 {ok cut}
2000 hteI I Ip
1800 —
1600 [ Entries 48211
1400 —
1200 :_ Mean —0.0959
1000 —
800 Std Dev  409.5
600
400
200
:III [ 1 1 [ | | IIIIIIIIIIIIIIIIIIII IIIIII

[ [ —
L

OO

0

1

N —

[ Jy

(P_

1000-500 O

- 000~upstreamLR ratecﬁédk“*aﬁwm "postpan.png

500 1000 1500

2000

1800

1600

1400

1200

1000

800

600

400

200

0

2000

1800

1600

1400

1200

1000

800

600

400

200

asym_usr/ppm {ok_cut}

hIemp

- Entries 48211
- Mean 1.651
- Std Dev  494.6
:I I I I I I I l I I I l I I l l I I I I I I
—2000 —1000 0 1000 2000 3000
asym_usr/ppm
(asym_usl/ppm+asym_usr/ppm)/2 {ok cut}
— Entries 48211
— Mean 1.555
- Std Dev = 372.8
:I I l L1 1 I L1 1 I L1 1 I L1 11 [ | I |
~1500 —1000 —500 500 1000 1500

3000

2000

1000

—1000

—2000

—-3000

1000

500

-500

—1000

—1500

—2000

asym_usl/ppm:asym_usr/ppm {ok_cut}

i I I I I [ 1 1 1 I [ 1 1 1 I I I I I I
—-2000 —-1000 0 1000 2000 3000
asym_usr/ppm
asym_usl/ppm:asym_usr/ppm {ok cut}

- Entries 48211
:_ II 'I' Fuys ++_,_++ - +H_ ++ _|_+_|__|__|_II ]

i I II * Mean 1.651
E - Meany 1.459
- Std Dev ~ 494.6
i Std Devy 607.3
:I I [ 1 1 1 I I I I I A I I I I [ | I_I I
-2000 —-1000 1000 2000 3000




asym_dsl/ppm {ok_cut} asym_dsr/ppm {ok_cut} asym_dsl/ppm:asym_dsr/ppm {ok_cut}

2000 htel | Ip 2000 [ hteI | Ip 3000 —
1800 — 1800 —
- Entries 48211 B Entries 48211 2000 —
1600 — 1600 — B
1400 1400 1000 -
1200 Mean 1.39 1200 - Mean 2.017 -
1000 1000~ T
N Std Dev  636.4 B Std Dev  481.7 i
800 800 i
600 — 600 — -
400 400 - 2000~
200 200 — :
GZIIIII IIIIIIIIIIIIIIIII IIIIII OZIIII IIIIIIIIIIIII J_IIII _SUOO_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
-3000 -2000 -1000 0 1000 2000 3000 —-2000 —-1000 0 1000 2000 —-2003-150G-1000-500 0O 500 1000 1500 2000 2500
asym_dsl/ppm asym_dsr/ppm asym_dsr/ppm
(asym_dsl/ppm-asym_dsr/ppm)/2 {ok cut} (asym_dsl/ppm+asym_dsr/ppm)/2 {ok cut} asym_dsl/ppm:asym_dsr/ppm {ok cut}
2000 | htel | lp 2000 htel | lp 1000 |~ hteI I Ip
1800 — 1800 — §
: - 500 - -
- . N . = Entries 48211
1600 :_ Entries 48211 1600 :_ Entries 48211 - ++
- - 0 _— HehE b e +4.1_+~|+++++-I—Jr
1400 - 1400 - E i +I HI+ figes Mean 2.017
1000~ 1000 — - Mean y 1.39
- B —1000 —
800 — Std Dev 392.9 800 — Std Dev 405.2 ' _
600 600 ~1500 :— Std Dev  481.7
400 — 400 — -
- B —2000 — Std Devy 636.4
200 — 200 — B
0:II I [ [ 1 | I [ | 1 | I | | [ I [ 111 I [ I [ 11 | | I | | :I I I I I [ [ 1 | I L1 1 1 I L1 1 1 I L 11 1 I I IJ [ 1 1 I _2500_I I [ | I I I I I I I I I [ | I I I I I I I _I I
— —2000-1500-1000 —500 200 1000 1500 —-2000 — 00 —-1000 -500 500 1000 1500 2000 —-2000 —-1000 1000 2000

—
-
-
ht.n
w

W’””ﬁbWﬁ%treamLR rat@ﬁh@cWSf’Tﬁw - postpan. png



reg_asym_usl/ppm {ok_cut}

: htemp
2200 e m
znnnf—

15[1[]?— Entries 48211
mnnf—
14[1[13— Mean  -0.7661
mnnf—
1000 Std Dev 1429
annf—
ﬁnnf—
4nnf—
znnf—
e R N T

2400
2200
2000
1800
1600
1400
1200
1000
800
600
400
200

reg_asym_usl/ppm

(reg_asym_usl/ppm-reg_asym_usr/ppm)/2 {ok_cut)

htemp

Entries 48211
Mean -0.7712
Std Dev 98.21

—4DD —EDD EDD 4DD EDD

e

R o =

R It

Pea_ wmmenr pepes s

L N

2000

1800

1600

1400

1200

1000

800

600

400

200

-

é}—llI|III|III|III|III|III|III|III|III|III|I

=

600

400

200

. —200

-400

reg_asym_usr/ppm {ok_cut}

htemp

Entries 48211

Mean 0.7763

Std Dev 133.2

III|III|III|IIIILJ|I

(o i I

-400 -200 0 200 400 600
reg_asym_usr/ppm

(reg_asym_usl/ppm-reg_asym_usr/ppm)/2:Entry$ {ok_cut}

L _L L 1] :}{ I E B . 4 4
_xngxx KEH KX —x—xxxx§§ wxx Ll %HH
K K XK W WM X K
x AT
%X XX XX XX x
%% 9%

10000 20000 30000 _ 40000 50000

Pea_ memewr pepesns

St~ LN

800

600

400

200

-200

-400

—600

—800

2000

1800

1600

1400

1200

1000

800

600

400

200

reg_asym_usl/ppm:reg_asym_usr/ppm {ok_cut}

reg_asym_usl/ppm:reg_asym_usr/ppm {ok_cut}

ru n 483?1 350001 regtfpg/t)r)éa m L R ratec h ec k regutrﬁpostpa n pngm _usl/ppm+reg_asym_ust/ppm)/2

2 { ndf 37.66 /38
i 00 06542 = 0.6660
- p1  —0.01124 + 0.00574
| 100 } ‘
N 50 |
: n— | Hﬂﬁwﬂi&w%&wwﬂ
| || R
a 50 | +
- -100 | }
— ~150
_l | I | | | I | | | I | | 1 1 | | I | | | I | | I_ | I | | | I | | | I | | 1 1 | | I | | | I | | |
600 400 -200 0 200 400 600 —-600 400 200 0 200 400 600
reg_asym_usr/ppm
(reg_asym_usl/ppm+reg_asym_usr/ppm)/2 {ok_cut} (reg_asym_usl/ppm+reg_asym_usr/ppm)/2:Entry$ {ok_cut)
: htemp, ™
: L 400k 8 x
= :| B # s # L # s
— 5 L & L S, S,
- : 1300 B0 B S B G BE s B ISR
s Entries 48211 : B Sor Rt atat S et ek <. g S
B § i _ =
- § 200f-
- Mean  0.005103 . 100l
N L i
| 3K i,
| i
- |
" Std Dev 97.14 L I
- } 100
: bk
- - —200 [ _
B — s K o s O s
[ B ®oOX s
: —400 X
_III|IL III||III|IIII|IIII|IIII|III I||IIII —IIII|IIII|IIII|IIII|IIII|III
-400 -300 200 <100 0 100 200 300 400 500 0 10000 20000 30000 40000 50000
Entry$



reg_EISYm_dSUppm {{3 {_{‘_‘,Ul‘} reg_asym_dsrfppm {Gk_cut} reg_asym_dsl/ppm:reg_asym_dsr/ppm {ok_cut} reg_asym_dsl/ppm:reg_asym_dsr/ppm {ok_cut}
N = : %2 / ndf 45.03 / 40
2200 hte“lp - htelllp L 8001~
- 1800 :} - PO -0.8027 £ 0.6853
2000 — 1600 - | 6001—
B i - i - B 1
1800 — Entries 48211 - Entries 48211 ] - p 0.01411 £ 0.00570
B u | -
- o »n 400 - ‘
1600 ‘I-‘-ID[]: ) - 1DD:—

1400 Mean -0.8859 1200~ Mean  0.9022 200~ 50 }l }}
1200 1000 ol - |1 Ly ¢ 11t Jf I
- - i O J(Hﬁ—qﬂ;ﬂwwﬁ*%ﬁm 1

1000 - i - wl J[ T I |
- Std Dev  147.3 800 — Std Dev  136.4 i - |
800~ - —2001~ 0= |
: 600 - -
600 - 400 ~100-
N 400— i -
400 i : 150]
- - 600 B
200 200 - -
n-_tllll III|III|III|III II|III|I n1IIJIII|III|III|III II|I _En_llllIII|III|III|III|III| _EDD:I_III|III|III|III|III|III|I
-800 -600 400 -200 O 200 400 600 800 -600 400 -200 0 200 400 600 —%UD 400 -200 0 200 400 600 -600 400 -200 0 200 400 600
reg_asym_dsl/ppm reg_asym_dsr/ppm reg_asym_dsr/ppm
(reqg_asym_dsl/ppm-reg_asym_dsr/ppm)/2 {ok_cut) (reg_asym_dsl/ppm-reg_asym_dsr/ppm)/2:Entry$ {ok_cut} (reg_asym_dsl/ppm+reg_asym_dsr/ppm)/2 {ok_cut} (reg_asym_dsl/ppm+reg_asym_dsr/ppm)/2:Entry$ {ok_cut}
_ | = | -
htemp| ' | }{ htemp| ¢
B 1 i o B v 400 ®oX P o ®
N L B L - o WK X
2000 — : 400— X = i A P Qe ete: XX XX
- ) | %X P HH o 1600 — : L3 M % M, X RMK M, }{zx}{}:}{ S:x::x
- _ | :a:g XK KX XKW i _ | B00pEinxx Hpr & xRk %%xéx S35 5
1800 Entries 48211 ; S B MO 00X X - Entries 48211 ; T T TS T T T TR T T T T TR TTETTT I T T T ST
N f TTITTTTITI T-TETTT TTITTTIEIT § 1400 .3:‘ 500 i
1600 | 200H B ] -
: o 1200 ook
1400 Mean  —0.8941 1 ' - Mean  0.008147 . 1001~
B " B L
N | - |
1000 — : - - : i
- Std Dev  99.55 ; - 800 Std Dev  101.2 ~ _100l-
B f g - 1 |
800— | - [
- ? —200 L L 600 ? 200
o ?ﬁi'é;?}‘";"ﬁi—%g;ﬂﬁ;};m%;;;;g_;;_ S 4000 AR Ll L B el el L L
4000 o T L X T oy : 300 EREEE SR D00 K
N —400+ MM MM P P _ [ 3 XX P XKW :x :x
— i e 200 — | M - e e
200— P p | —400 b y i P P
: _IIII|IIII|IIII|IIII|IIII|III _IIII|_I_I IIII|IIII|IIII|IIII|IIII|IIII Jllll :IIII|IIII|IIII|IIII|IIII|III
—4[][] —EDD EDD 4DD 10000 20000 30000 40000 _ 50000 -400 -300 -200 100 0 100 200 300 400 0 10000 20000 30000 40000 50000

run483“F 35000“ fﬂﬂbWﬁ’StreamLR ratecheck rég postpan.prig « =" s



reg asym usl/ppm:AqDS/ppm {ok cut}

reg asym dsl/ppm:AqDS/ppm {ok_cut}

reg asym ust/ppm:AgDS/ppm {ok cut}

reg asym dsr/ppm:AgDS/ppm {ok cut}

: 800 5 5 :
[ L 8001~ L 600 L 600
) - ) i 3 3 .
) 9000 1 6001 a a
A i L[ . 400 L 400
) 4000 1 a00F { )
! — ] B J J
i - 200 200
2001~ 200
0F- 0 0 0
—200[- _onol-
: : -200 500
—400- 400
i i -400
i i -400
-600— -600—
_Enn_ II|II II|II|III|III|I _EUD: II|III|III|III|I _EDD II|III|III|III|I _Enn I|III|III|III|III|III|III|I
600 -400 -200 0 200 400 600 200 0 200 400 600 -600 200 0 200 400 600 600 -400 -200 0 200 400 600
AgDS/ppm AqDS/ppm AqDS/ppm AqDS/ppm
reg_asym_usl/ppm:AqDS/ppm {ok cut} reg_asym_dsl/ppm:AqDS/ppm {ok_cut} reg_asym_usr/ppm:AgDS/ppm {ok cut} reg_asym_dsr/ppm:AgDS/ppm {ok cut}
- x* / naf 29.91/ 41 %2/ ndf 33.5/ 41 2501 %2/ ndf 21.62 / 41 i %2/ ndf 26.75 / 41
- 300~ - -
2001 p0 —0.9254 + 0.6645 I p0 -1.022 +0.685 200 pO 0.7335 + 0.6206 150 p0 0.8669 + 0.6362
15'3';— p1 —-0.04921+ 0.00473 200 p1 —0.04223 + 0.00486 1503— p1 —0.03507 £ 0.00439 100 p1 —0.03282 + 0.00450
100~ [ 100E- }L 50F- T “
- - - - 1 |
50— } 100— T 50— o } HH +{WW+
: | } J{H | { : - w ” - | + ijjﬁﬁ J[
23 e | | -l |
: ki S L S Y : dill :
-50}- { - ' #ﬂﬁ}[ | ~0F 100
~1001- I 1 —100 150
= o 150 -
—150 - : 200
C : 200 -
—200F - - N -
:I III|III|III|III|III|I _Enn_lllll |III|III|III|III|I N |I II|III|III|III|III|I _EED:IllllllllllIII|III|III|III|I
-600 -400 200 O 200 400 600 -600 -400 200 O 200 400 600 600 —400 200 O 200 400 600 600 —400 200 O 200 400 600

run4837_000_main_vs_AqDS_ratecheck reg_postpan.png



800

600

mam_ wamear prpers s

400

et~ B

200

-200

-400

—600

—-800

100

-100

-200

-300

reg_asym usl/ppm:AqUS/ppm {ok cut}

600 -400

-200 0

200 400 600
AgqUS/ppm

reg_asym usl/ppm:AqUS/ppm {ok cut}

: x2 / ndf 42.21/ 40

- PO -0.8399 +0.6645

- pl  —0.05769 + 0.00470

I b |

- J[ J[HJrJr }

A A R ) T

_ P

J_-I I I L 1 1 | L 1 1 | 1 1 | L 1 1 | L 1 1 | L 1 1 | 1 1
-600 -400 -200 0 200 400 600

na I_u'l'l'lll FFI nn

800

600

400

200

-200

-400

—600

—800

100

-100

-200

-300—

reg_asym dsl/ppm:AqUS/ppm {ok_cut}

-200 0

200 400 600

AgUS/ppm

reg_asym dsl/ppm:AgUS/ppm {ok_cut}

_ 2 / ndf 47.33 / 40

- 00 ~0.9283 + 0.6849

- o1l —0.05229 + 0.00484

- J[ J[H# Pt titl

b ; ug!

R HH! H

| | I | | | | | | L1 1 | L1 1 | L1 1 | | | | |
600 -400 -200 0 200 400 600

run4837_000_main_vs_ AqUS ratecheck reg postpan.png

na l_u'l'l'lll FFI nn

600

400

200

-200

-400

-600

200

100

-100

-200

-300

reg_asym_ust/ppm:AgqUS/ppm {ok cut}

—200 0

200 400 600

AgUS/ppm

reg_asym_usr/ppm:AqUS/ppm {ok cut}

%2 / ndf
= p1

51.62 /40
0.7465 £ 0.6205
—0.03276 £ 0.00437

1‘II|III|III|I

SN L T— ol

i

-600 -400 -200 0

ni l_u'l...l'li FFI [ |

Pasy  wassy

600

400

200

-200

-400

-600

100

-100

-200

-300

reg_asym dsr/ppm:AgUS/ppm {ok cut}

-600 -400 -200 0

200 400 600
AgUS/ppm

reg_asym_dsr/ppm:AqUS/ppm {ok cut}

- x® / ndf 43.01/ 40

- 00 0.9266 + 0.6363

el Pl —0.03191+0.00448

L] "ﬁﬁﬁ + H

- | st

3 i

- %

1_‘| | | I | L1 1 | | I | | I | 1 1 1 | I | | I
—-600 400 -200 0 200 400 600




